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#% A(0,-1)» B(a,2) C(4,-3) > D(-2,b)mz 4 > Bla+b="7
(A) -5
(B) -6
(C) -7
(D) -8

(sin75°—~sin15°)2+(cos75°+cosl5°)2=?
(A) 4
(B) 3
(C) 2
(D) 1

. BEAABCY ra,b,ciy B3l B LA LB, ZCty ¥ %> B (a+b+c)a+tb—c)

=3ab » B] LC=7
(A) 30°
(B) 45°
(C) 60°
(D) 90°

wabe,dBEH  E(x-1)V+2(x-1)V+3(x-D+4=a(x+2) +b(x+2)
te(x+2)+d > Bla+b+c+d="7?

(A) -1

(B) -2

(C) 1

(D) 2



Wik =
$#2(C)

5. Bho\3rov2 th K BE S A a - NHE S B ;jia+—;-=‘?
(A) 2+43
(B) 2-413
(C) 3++2
(D) 3-+2

3x+5y—z=-1

6. HAEmix—y+4z=11 HEMSwEmM B FTHLE=?
4x+20y-23z=k

(A) —58
(B) 58
(C) =29
(D) 29

7. %2 A & X o +be+e<0 89 B A 2<x<5 > B % & R
ax’ +3bx—2c>08) FT A AR x B AT ?
(A) x<4
(B) x>5

(C) 4<x<5
(D) x<43z x>5
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8. A —BEX T E 11" 21008 45 8 & 7 2
(A) 11
(B) 19
(C) 90
(D) 91
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n—1
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® R =7

n—1
(A)9
(B) 8
(C) 7
(D) 6

10. #H—3 9% FRRe I EAE BT ?
(A) 6
(B) 7
(C) 8
(D) 9

1. BT FBEFFT@ERABCD » B P BB ACT IO R E B

(2,5) &8 AB=(2,-5) k)& BC=(4,3) Bl Z5 D&y /45 A 47 ?
(A)(4,9)

(B) (3,8)

(C)(3,9)

(D) (4,8) D



miz =4
#E2(C)
12. 8w =fmEaq, b, c R E|ZI=2, |71=3, |c|=4> EA#MG <=3

LAED ¢ =5 BRl(a+B+¢c) - (a-B+c)=2
(A) 27
(B) 17
(C) 15
(D) 13

13.8 40 j=\J-1> a, b F A (1+i) =a+bi > Bl i +b>=2
(A) 42
(B) 16
(C) 162
(D) 32

14. & %o a, a,, a;, a,, a5, ag & £ £ 3 %> % a,+a,+a,=45> a,+a, +a, =33 >
Al & B a =7
(A) 3
(B) 4
(C) 5
(D) 6

15.4t f§ log,3log,5 log,8 T 4% TF | 47 &, ?
(A) 4
(B) log,(3-5-8)
(C) 3
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16.F 3147 & IE # ?

(A) 235<(23)5
(B) 235:2(3-5)
(C) (23)5:2(3+5)
(D) 2%3)=93.98

17.5 B C: (x=3)" +(y-4) =258t y=3xAa XN w B A4,B Al &K 4B ¥

18.

¥ OB fT 7
(A) (1,5)

39
B) (2,2
(B) (5. 3)
(C) (2,4)

5 7
D) (2, <
(D) (5.7)

2

6#%®ﬁ%~%ﬂ’w£@%%%ﬁ%%ﬁ?

(A) 2413
(B) 10
(C) 245
(D) 5

19.3% f(x), g & T 5 & % > x f(1)=5, g(1)=-3, f(1)=4,

h—0 h

» h(x)=f(x)-g(x) » B A(1)=7
(A) 1
(B) 2
(C)3
(D) 4



wik=%a
$#4(C)

20.3% f(x)=x"=3x» Bl f(X) & [3,1]F t4 K K5 47 ?
(A) -2
(B) 2
(C) 3
(D) 18
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